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SECTION - |
MATHEMATICS & SCIENCE

1. The molarity of pure water is (density of
water =1gm [~ 1)

(A) 55.55 M
Q) 444 M

(8) 66.66 M
(D) 45.55 M

N

Which of the following is not a colligative
property ?
(A) Optical activity

(8) Elevation in boiling point
(€) Depression in freezing point

(D) Relative lowering in vapour pressure

w

Which of the following is not a good
conductor ?

(A) NaCl(aq) (8) NaCi(s)

(© NaCl (molten) (P) Cumetal

< A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2
focal lengths is 5 Their equivalent focal
length is 30 cm. What are their individual

focal lengthsincm ?
(A) -75, 50

(9 -10, 15

(8) -15, 10
(D) 75, 50
5. An artificial satellite moving in a circular

orbit around the earth has total energy [PE +
KE] E,.Its potential energy is

—_

i - I

R gd fasm
U& STl B A & (A BT T = 1
gm L)
(A) 5556 M
€ 444 M
PrafarRaa # A avRiers or A€ § -
(A) gereitg forarditeran
(B) FqYATH BT I™IA
© f&qied &1 a9
(D) IS HT MRS JAgTHT

(8) 66.66 M
(D) 4555 M

fr=foReg & @ @19 W1 qaTas T8 © ?
(A) NaCl(aq) () NaCl(s)

(© NaCl (Roergar) (P) Cu €T

TF S o9 Iadel o & 996 § 7 |
T Blew  gRAT $  IJEE B
R gélsﬁaﬁﬂﬂqmﬁwﬁ
30 W B | DI I3 BlHE T
. # el -
(A) -75, 50

© -0, 15

(8) -5, 10
(D) 75, 50
TS PHM STUE S AT &

IR 3R
JAHER T W A R IW T, B pA
Sut (Rafow vd nfow &) g ®

o

W E, ® —E, T Refrer st anft -
© 15E, () 2E, A E, ®  —E,
© 15E, b 2E,
Lo 614,
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In a single throw of three dice, the
probability of getting a total of 5

(A) 5 ® 1
216 216

© 1 © 5
36 108

Nessler’s reagent is used for the detection of
(A K* (8) NH,

(€ Cu?t (0) Na*t

Which ore contains both iron and copper ?
(A) Chalcocite (B) Malachite

(©) Cuprite (D) Chalcopyrite

A bomb of mass 9 kg explodes into 2 pieces
of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6
Kg is

(A) 2.92 Joule
(C) 1.92 Joule

(B) 3.84 Joule
(D) 9.6 Joule

- The number of moles of KMnO, that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is

-

- KMnO,

dF 9’ & (HA IBIA F FaT AN 5
I @t widar Brft -

(A) -3 (B)
216 216
© 1 (D)
36 108
AR AMNGHAS & SUAT a1 T b
forg &rar &
(A Kt (8  NHS
(€. ot ()  Nat

fa U6 s # dreT den dfer <Fr €2
(A) dTepIRITSE (8) Hcldrge

© FqISE (D) HTehIuraRTZE

9 kg TTAM B Th 99 fAThe & 9]
3 kg 3R 6 kg & a1 THS! & dear © |
3 kg S BT 4T 1.6 WA, ¥ 1 6 kg
SHAEME B TSl Sl 8RN -

(A) 2.92 T (B) 3.84 oI

© 1.92 S (D) 9.6 e

& Al B A= S bRy
AReic & 1 Al 9 Ny Qe #
o foear & forg emawas @ -

(A) 3 (8) 1 (A 3 (8) 1
5 5

© 4 (© 2 © 4 (o) 2

5 5 5 5
Page: 3
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1. Which of the following behaves both as
nucleophile as well as an electrophile ?
(A) CH;CN (8 CH;CHO

(© CH,Cl (©) CH;0H

2 In Friedel Crafts alkylation, besides AlCl,,

the other reactants are
(A) CcH¢ + NH; (8 CoHg + CH;Cl

(© CgHg + CH,COCI
() C¢Hg + CH,

13. The value of x in the following series :
1+6+11+16+........ +x =148
(A) 39
(Q 37

4. Root of the equation 3x2 + 7ix+ 6 =0

(A) 2 2 (B) 3i, 2i
—3i,—1
3
@ _ 2 o) _ 3.
2i,—1i 3i,—i
3 2

5. The work done in placing a charge of
8 x 107 Coulomb on a capacitor of

capacity 100 microfarad is
(A 16 x 10732 Joule

(8) 3.1 x 10724 Joule
© 4 x 10719 joule
®) 32 x 10732 Joule

"

13.

frr @ ®F TfveEd qen
SRR QA B TWE Hrf BIAT © ?
(A} CH4CN (8)  CH,CHO

(©  CH,Cl () CH;0H

e HIE F Tedideor ¥ Alcl, &

AATaT AfNeER® § -
(") CzHg + NH,

()  CgH, + CH5CI
(©  C4Hg + CH;COCI
(®)  CgHg + CH,

frafafaa gt § , &1 99 8r -

1+6 +11+ 16 + ... + x = 148
(A) 39 (B) 36
(@ 37 (D) 38

IR 352 4 Tix+ 6=0 P A eRT

(A) 2. (8) 3j, 2j
—3i,—i
3
() 2 (D) 3
2i,—i 3i,—i
3 2

- 100 HISHIBRS HIRGT & TuRE o

8 X 10718 DM BT AMQI 7@ ¥ A

HAT BTN -
A 16 x 10732 Jd

® 31 x 10726 S
© 4 x 1010 S

© 32 x 10-32 S

L

Page: 4
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6. Ina AABC, AB= 6./3 cm, AC =12 cm and

BC =6 cm, then the angle B is
(A) 9Q° (B) 60°

© 120° (D) 45°

17. A small metal ball is suspended in an
uniform electric field with the help of an
insulated thread. If a high energy X-ray
beam falls on it
(A) The ball will not deflected at all.

(B) The ball will be deflected in the direction
of field.

(©) The ball will move to infinity.
(D) The ball will be deflected opposite to the
direction of field.

18. ; '
The nucleus resulting from ZZiU after

successive emission of two q-particles and

four [3-particles is

(A) 230 (B) 230
o4PU g1

(© 230 (o) 23
ggha 920U

19. If a body loses half of its velocity on
penetrating 3 ¢cm in a wooden block, then

o uh s aaBC ¥ AB = gy3 W,

AC = 12 9%t 91 BC = 6 WM &
ST B BT AT BT
(A) 90° (B) 60°

(C) 120° (b)  45°

M F FWR Slelt I Qv -

A g fafa =& aft |

BT Iz ax o e F @k
(© g A< W Tt SIgt |

wﬁ;ﬁé@aﬁaﬁﬁnﬁaﬁmﬁﬁ%ﬁa
|

T FA P W IR U @
a2
HHIE SHoE & URUTARGSY §99 qTcd

(A) 230 (B) 230

94Pu goTh
(€ 230 (D) 23
88R 920U
19 f¢ Th 9K dABS & UH THS W 3
J9 999 H I 9 W o ed g, d

how much will it penetrate more before| fdagemm aR dJg9 N
coming torest ? faTHraRRr # o1 WY 2
(A) 3cm (8) 4 cm (A) 3 cm (B) 4 cm
(©) 2cm (D) 1cm © 2 ¢m ) 1 cm
Page: 5 614754
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20. At the magnetic poles of the earth, a
compass needle will be
(A) Vertical (8) Bent slightly

(€) Horizontal

(D) Inclined at 45° to the horizontal

The rate constant for the first order reaction
is 60 s~1. The time in which it reduce the

21.

. 1 th
concentration of the reactant to —  value
16

is

(A) 46 seconds .
(8) 4.6 x 1073 seconds
(€ 4.6 x 1072 seconds

(D) 2 seconds

2 A body cools from80°C tog4°C in 5
minutes and same body cools from 80 °C to
52°C in 10 minutes. What is the
temperature of surroundings ?

(A) 22°C (B) 24 °C
(© 28°C (d) 25°C
2. The length of a cold storage is double its

breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m2.

Its volume will be

(A) 206 m? (B) 416 m?

© 316 m? ®) 216 m3

TR

20.

21.

23.

éwaswgaﬁwwmmﬁ

g\r;ﬁ -
E?ame?
6) get M T W
(€ afs
(0) AT A 45° W LA T

o PfE B TH  AMBT BT

ReRid gos-! © | 98 WO R
. h
afveR® & aET LT A Y S

16
& _
(A) 46 FHTSH

(B) 46 x 1072 dzvsm
(©) 46 x 1072 dzvsm

(0) 2 JYHvsH

s M@’ gooc W g4°C TP U 5
e # € & e 98 ferg gooc ¥
52°c d® ovel 10 fFe # dar ¥ |

YT & gIaIEaNoT ST 919 8N -
(A)  22°C (8) 24°C

(© 28 °C (D) 25 °C

% Aid U8 B dErs S9d A &t
AT | Sarg 3 ;¥ | 3E
IRl EaRY (GRaTST |fikd) a1 aF%d
1082 & | T UT ST e &N -

W 206 B 4164°

© 31643 P 21653

Page: 6



24. Percentage errors in the measurements of
mass and speed are 2% and 3% respectively.
The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be
(A) 12%

() 10%

(8) 2%
(D) 8%

25. In what ratio does the point (-4, 6) divide

the line segment joining the points A(-6, 10)

and B(3,-8)?
(A) 3:7 (B)4:9
(€ 4:5 °)2:7

. 26.

CH; —CH-CH, —0OC,H
IUPAC name of  ° | S e

OH
is
(A) 1-Ethoxy propan-2-ol
(8) 3-Ethoxy propan-1-ol
(C) Ethoxy pentanol
(D) 2-hydroxy-3-pentanone

27. If the arcs of same length in two circles

subtend angles of 60° and 75° at their

centres, then the ratio of their radii

25,

26.

27.

Q1 fd<alt A6, 10) T B(3, -8) @Y
Sied a1l Y@rEs # fawg (-4, 6) fHa

AT H T -
(A 3 : 7 (B) 4 : 9
© 4 :5 D 2 :7
CHy —CH—CH, —0C,Hs
| @1 JUPAC #H

OH
T _
(A) 1-QITRTT TUH-2-3i7cT
(8) 3-gfedt UU-1-3ffeT
(© TRl JeAaT
(0) 2-grggiaRt-3-UetT

U NS & 99 Q1 g9l b b W
60° IR 75° & BT g9 & A <A

il 3 Brewnelt a1 srqur g m -

(A)5:4 B)6:7 (A) 5 : 4 (B) 6 : 7
(©7:8 (0)4:7 © 7:8 D) 4 :7
- Realvalueofxandy,ifg y;lzl | x—1+y—1=i W oy IR y &1
3+i 3-—i 3+i 3—i
(A) 7,-7 (8) -2,5 qrIfd®s 99 8 -
(©) -10, 12 (D) -4,6 A 7, -7 (8] -2 5
© -10, 12 (D) -4, 6
Page: 7 614754
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29.

30.

31.

32

33.

If x =3_ 21/2,then x2 4 izwill be
X

(A) 36

(@ 24

(8) 30
(D) 34

The half-life period for a zero order reaction

is equal to
(A) 0.693 | [A],
K 2K
(0 2K (o) 0.693
(Al K[Al,

The length of the minute hand of a clock is
14 cm. The area swept by the minute hand
in 5 minutes.

(A) 154 o (8) 154 :
=——— — cm
| 6
() 154 , (o) 154 >
—— cm cm
9 i2
If "p_="Pp_,and "Cr :nCr+1, then the
valuesof nandr
(AAn=5,r=4 B)n=2,r=3
©n=3,r=2 P)n=4,r=5

The water droplets in free fall are spherical
due to
(A) Gravity

(C) Surface tension

(B) Viscosity

(D) Intermolecular attraction

Which of the following does not have a
metal carbon bond ?

(A) Ni(CO), (8) AI(OC,Hg)s

(© C,H:MgBr  (® K[Pt(C,H,)Cls]

29.

30.

31.

32.

33.

B -
(A) 36 (8) 30
(€ 24 (D) 34

I P @ e & fag s Iy
Pl aTa] & -

(A) 0.693 .  [A],
K 2K

() 2K (D) 0.693
[al, K[A],

T TSl B e arelt gg @ awrg 1
TR g | e et 95 & gR1 5 fme #
HaR fHT U &5 BT STBA BN -

(A) 154 (8) 154

— & — &
3 6
© 154 (o) 154
— ¥ — &
9 12
Ife np _n qar N~ N r
Pr" Pt Cr_ Cr+1 :
3R r BT 99 B -
W n=5r=4 B n=2r=3
© n=3r=2 ®@®npn=4r=5
wWiadgde R @& 9t @ BT

© g5 qq

() RIS BT
frafoReag # 9 o ag-ada 49 =8
T2
(A) (8)

Ni(Cco), Al(OC,Hs);

(©  C,HsMg Br

()  K[Pt(C,H,)Cl5]

Page: 8



35.

37.

A particle is projected at 60° to the

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

() K (B) zero

2
(©) K o) K
4

A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?
(A) 25 watt bulb

(8) Both will glow with same brightness

(€) First 25 watt bulb and then 100 watt
bulb

(D) 100 watt bulb

Three masses are placed on the x-axis : 300
gm at origin, 500 gm at x = 40 cm and 400
gm at x = 70 cm. The distance of the centre

of mass from the origin is
(A) 40 cm (8) 50 cm

(€) 45 cm (D) 30 cm

The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(A) 5670 m>2 (8) 6570 m?

(0) 6750 m?

(© 7560 m?

% U B K Tfas oot & &foe 9 go°

PO ) yafg fhar war g @) S=ed
fig w nfos oot @nft -

(A K (®) 3=
2
@ K (o K
4

%. 25 qlc -220 diec B TP d¢d B 100
qie 220 Al & W g9 A A0HH H

Seek & Reg (9 TaR) |9 ST
ST € | B 91 9od B IHS ?
(A) 25 e &1 g9

(B) TFI ged AN THD |

() &l 25 dTc P ded B 100 dTC &I
qcd

(D) 100 dICc &T dcd

3. 9 gHE
fdg W, 500 gm HT x = 40 W W

-8 |, 300 gm B A

AT 400 gm BT x = 70 TN W W T
T P g o g fag A
BT -
(A 40 44 (8) 50 L.
© 45 A7 (0) 30 ¥

% Uh PreerR &d &1 9RE™ 450 W R

T SPT HO3M HI U 13 : 12 © 5
2 | PRoTeR @9 &1 &F%d e -

(A 5670 (B) 6570

© 7560 D) g750°

Page: 9
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. gy tan x + secx = V3 St

i tanx + secx = /3, such that
0 < x <, then x is equal to 0<x<n,(—ﬁxiﬁTW3)T"ﬂ-
st ® T ) 51 ® T
? 3 —6_ 3
(© 2m (0) E (©) 21 (D) E
A 6 3 6

0. If pendulum bob on a 2 metre string is|4. If U Wd"? diq <t 2 At # R
displaced 60° from the vertical and then 9T ®, P TEER A go° W o TR

released, what is the speed of the bob as it is Bls faar S § | 9@ &1 dm gy y
passes through the lowest point in its path ? fam g @ ORT W) AT =7 B 9

A V2 m/sec (B) 4.43 m/sec A /7 AR (B) 4.43 WAL,
© V2Xx98m/sec ® 1 m/sec © yzx98 WM. © 1 R
2 vz




41

~ SECTION - 1I
MECHANICAL ENGINEERING

A small % of boron is added to steel in order

to
(A) Increase wear resistance

(8) Increase hardenability
(©) Reduce Machinability
(D) Increase endurance strength

In sheet metal blanking, shear is provided on
punches and dies so that
{A) Good cut edge is obtained

(8) Cut blanks are straight
{©) Warping of sheet is minimized

(D) Press load is reduced

A hacksaw blade is specified by its
(A) No. of teeth (8) Material

(©) Width (D) Length

The formation of frost on cooling coils in a
refrigerator
{A) Increases power consumption

(8) Improves C.0.P. of the system
(O) Increases heat transfer

(D) Reduces power consumption

_ Iron ore is, usually, found in the form of

42,

43.

45,

w - II

NPwa goifraft

A B o ufw arn @Ed H SuH
B W e F ford ford o # 2
W ge-pe A H gfRuwar 43 )

(B) HARAT q41 & ford |

© weRfaferd) & s & ford |

(0) gTERAT WfkT 431 3G |

Me Ved @ «ifdn s § Mgy dq

AR TE SN A Rar rar 8, Ry 6
(A) HfeT H BR I 99 b |

®) FH gA wid WY 21 |
© diic & g1 HH A FH B |
(D) g YR &9 fhar <1 9% |

gm&ﬁsiﬁ‘rmﬁfﬁeﬁmm
?

() Sfdt @ e (8) drg
© o (D) THTS
. Bbwr # pfer Afdrelt W B 1 $

HROT BT &
() faga  @ua 9% S E

8) fyprr & Jern Oie F g
(©) ST RAFRY H g
(0) fae@ & @WId H B W € |

e v, JEIar 69 w9 § 9 I«
g7

(A) Sulphides (8) Carbonates

(©) All of these (D) Oxides (A) AThIgS (8) HEMT
© A W (0) SifFTES
Pagge: 11
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s6. The absolute zero temperature is taken as
(A) 237°C (8) -273°C

(© -237°F (o) -273°F

47. The property of sand due to which it evolves
a great amount of steam and other gases IS

called
(A) Permeability

(©) Collapsibility

(8) Cohesiveness

(D) Adhesiveness

48. The overturning of a vehicle on a level
circular path can be avoided if the velocity

of vehicle is -
(A) Greater than \/gra

h
(8) Less than Jgra
h
(C) Both greater and less than _/gra

h
(D) None of these

49. In a bilateral system of tolerance, the
tolerance is allowed on
(A) One side of nominal size

(B) Both side of actual size
(©) One side of actual size

(D) Both side of nominal size

50. The amount of heat required to raise the
temp. of unit mass of gas through one
degree at constant volume, is called-

(A) Specific heat at constant pressure

(8) kilo joule
(©) Specific heat at constant volume
(D) None of these

AR

47.

48.

49.

50.

Page: 12

(o) -273°F

TS B qellg gaTER T W 3wt
A A ¥ o, ML BT AT B Ay

(A)@ﬁm (8 /gra X HA

h h
(€ J‘gﬁﬁaﬁﬁsﬂ?waﬁ
h

(@) 99 q P15 Bl

feuey <roR=g uomefl #, TR @l
FEfy =1 ¥ 5 voR Bl § 2
(A) AERY AMPR & TP 3R

(B) qrEifd® MPR & ST 3N
@ JrEfd®s JE9 $ e 3R
(0) HHYRY MPBR & SHI AR
o N & i sEEE B awEE
1°C, 999 IMAd W, §eM & ford

JAWH IH HEA! &

A M 39 R fAfRre 9w
®) fhel o1

) T s w fafre sen
O T A B

5141



51.

52.

A differential pulley block has larger &
smaller diameter of 100 mm and 80 mm
respectively. It’s velocity ratio is

(A) 20 (B) 10

©5 (D) 40

A circular hole of 50 mm dia. is cut out from
a circular disc of 100 mm dia. as shown in
below figure. The centre of gravity of the
section will lie

:D
(A) in the shaded area

(8) in the hole

(€) at point ‘O’ (D) None of these

51.

52.

TS el ufear g g1, e g$1 9
Blel &A™ HAT 100 mm T 80 mm

D
(A) Brifead & § (B) B ¥
© fag 0 w® (0) 379 A B &l

53. Brass is an alloy of 5. gr9 Udh A% grq g
(A) Copper and Zinc  (B) Copper and tin (A) HR IR RNid  (B) SR g R
() Copper, tin and zinc 0 3R, o7 3R RNiw
(D) None of these 0) 39 A dIg Tl
54. Anisothermal process is governed by 5. U GHAUl Uhd & R ovar @
(A) Gay-Lussaclaw  (B) Boyle’s law (R A-3Ts &1 Frm
(©) Avogadro’slaw (D) Charle’s law (8) § I &1 fAgq
(O IavmeY &1 fraw
©) el o1 fram
Page: 13
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8. According to Avogadro’s Law, the density of
any two gases is their molecular
masses, if the gases are at the same
temperature and pressure,

(A) equal to

(8) directly proportional to
(© Inversely proportional to

(©) Not equal to

S8 What is the no. of jaws in self-centred
chuck?
(A) 3 (8) 4
© 8 (©) 6

S7 The section view drawing in which one
fourth of an object has been marked for
removal is known as a section.
(A) Full (8) None of these
(O Quarter (0) Half

8. The efficiency of a lifting machine is a ratio
of
{(A) All of these
() Work done by machine to the Work done

on the machine

(O Output to the input
(D) Mechanical Advantage to velocity ratio

¢ The electrode tip diameter‘d’ in spot

welding should be equal to (where t* =
thickness of plate to be welded)

(A) 15Vt (8) 3Vt

© © 6

T

55

57.

59.

araymey P & R, 6 & A

WA, 9% MRS FEmE %
ayar &, afe RN &1 agur g

Q14 A e |

(A quaR ()

(€) BTN (0) quqy Tt

WHfgd ab ¥ w4 B e By ¥
A 3 (8) 4

(C) 8 (D) 6

Rt ot g & ARE G H UF dogrs

AT P BIC B AAT X fear srar 2
Jg WS dedra ¢ |

(A)TJ‘[ (B)Eﬁ.\e{aﬁgqﬁ
© g =g (©) g

S&US 79 B q'mar A X e
U Bt § 2

() I i

BT gRT far o &1 a9 w® g
T e

@ 3y8eYe &1 FYe A
©) if¥s a9 BT T«

S I aTelt ey @ Aerd)
W 15Vt B 3t
© Vi @ 6\t
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60. In ideal machine, mechanical advantage and
velocity ratio is
(A) Equal

() No relation in both

(D) None of these

(B) Not equal

61. The periodic time of one oscillation for a

simple pendulum is (Where | = length of the

60.

61.

I WA & o aife am SR
QAT BT AT BT & -
(A) gRTaR (B) gRTgY &S

© S F Prg W T
(0) 99 A B Tl

TF QA9 & ford, IR Add B Sl
Pl BT § - (&l W | = Add B

pendulum) TE)
A 1 [g (8) ] (A) 15548 (B) 1
g 2N 1 g
(c) (D)
?-Trﬁ A4l i3 2nJg Rl
2m (g 1 2n g
62. Percentage of Carbon in cast iron varies|62 H[EE AT H Hlad H Y9G deddr &
from (A 019 0.5 () 0.5 I 1
(A) 0.1t0 0.5 (8) 0.5to1 © 1317 D) 1.7 ¥ 45
(0 1tol.7 (D) 1.7to 4.5
83. Crystal structure of a material is generally, | 63. fhd} garl &) fbed Ava9T &) WRET &
examined by (A) 19 3@l 8T
Y NakeC e 6) gy qeresdt g
(8) Optical microscope © arg qm R
(©) Metallurgical Microscope 0) TEIX qHP BN
(D) X-Ray techniques
64. The cold chisels are made by 64 gIg BIeA & B+l DI fa (Y | g
(A) Drawing (B) Forging ST g 2
(C) Piercing (D) Rolling (A g fafy ) HfFT fafer
© g9 fafy (o) felr fafer
‘ Page: 15 614754
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65

66

70

The efficiency of diesel cycle increases with
(A) decrease in cut-off (8) increase in cut-off

(©) constant cut-off  (0) None of these

Which of the following is a scalar quantity ?
(A) Speed (8) Velocity
(O Force (D) Acceleration

A ladder is resting on a rough ground and
leaning against a smooth vertical wall. The
force of friction will act

(A) Downward at its upper end

(8) Perpendicular to the wall at its upper
end

(© Upward at its upper end

(D) Zero at its upper end

The type of file used for a wood work is
{A) Any of these (8) Double cut file

(O Rasp-cut file (D) Single-cut file

In arc welding, the electric arc is produced
between the work and the electrode by
(A) Voltage (8) Flow of current

{0 Contact resistance
(D) All of these

The value of 1 mm of Hg is equal to
(W 1333N/m* (8 1333 N/m?

© 1333N/m? (© 1333 N/m?

o

65

G7.

69.

70

e aw @ werm B F Qe
aaft @ 2
(A de-difs & & B Q

(B) @H-3fh & 4F O
© ®e-aifp & Ro wWay g
©) g} A Hg A

- ufd sfde wfr & 2

(A) ATl (B'r}ﬂ
© qof (D) o
td W, S B gray wiad wowd @
IR REeft flar & wEr A & | wdn

do1 feur fRum & wrd sy 2
A Fud AR A T A 3w

B) F AR W, AR A dTHqq
© I AR ¥ IR & 3R
© F& AR w® I B |

1 q a9 W XA (@A) & wE
deSl & B F fRar oar € 2
A T8 q g f B fg-Pe W@

© Yg-FHe H (D) TEa-Fe WG
Id AT #, g Rimd srtavs @
dEIS & W faud gRT Sa= @t
St § 7

(A fawg grr

(B) fIg[@ =T & gNI

© igd g grr

©) A ;P

1 mm Hg (YR) & W qUaR &an @
(A 1333 N/m? B 1333 N/m?

©  1333N/m* ©® 1333 N/m?
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74.

71.

Carburising flame is used to weld
(A) Hard surfacing materials such as stellite

(8) Brass and Bronze

() All of these
(0) Steel, Castiron, Copper, Aluminium etc.

Galvanising is a
(A) Process of coating zinc by hot dipping

(8) Process used for making thin phosphate
coating on sheet

(¢) Zinc diffusion process
(0) None of these
Which of the following welding process uses

non-consumable electrodes ?
(A) TIG Welding (8) MIG Welding

(©) Manual Arc Welding
(0) Submerged Arc Welding
The point through which the whole weight

of the body acts, irrespective of its position,

is known as-
(A) Moment of inertia (B) Centre of gravity

(€) Centre of percussion

(D) Centre of mass

7.

72,

73.

74.

mﬁnmﬁmﬁmm

AT far S € 7

(A) FIR EE dTa g R TKATZE

®) fae iR R

© JF If

OV A, dotdl ofver, didr, TegAifTaE
g

FedaregfinT ded €

(A gfe ffthr g Riw ®IfdT A

8) die W gadl HrEse PIET HA BT
A

(© e fergerT w4

(0) g q P13 el

e F O P AT uww § mga

solgere &1 WA fHar o & 2

(A) TIG afe<T (8 MIG afeeT

(© e o AT

(D) [gHOS A dfeeT

aﬂéﬁﬁwﬁ_wmﬁmﬁmﬁﬁ
8, &1 g8 g S8l W SHdT §HE R
B Bl 8, el ©

(A) Sreed ool (B) o FH

© e b (D) g b
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75. The force induced in the string AB due to|7s Y T frF # &m ‘AB 4, R W
load ‘W’, as shown in the below figure is Jed™ U SO IR g BT AE B

A A

& 2 lB c 2 l13.

W w
(A) Wsin® (8) W cosec (A) Wsin 0 (8)  WcosecH
(© WsecB (0) Wcos 9 (© WsecH (D)  Wcos 6

76. The Chisel used for cutting key ways is % gl g B g9 & ford dE-A e

(A) Flat chisel (8) Cape chisel TANT B S §
(9 Round nose chisel (A) Fure Bt (B) 9 B
(D) Diamond pointed chisel @ IrHe A B

D) TrHs Al BH

77 A taper provided on the pattern for its easy | 77. Jef ¥ W IgN TIH, Hes W
and clean withdrawal from the mould is IS T Woar q [Heem &

known as ferr T fear S 2, 3 P we
(A) Machining allowance Ped ©
(B) Draft allowance (A) wfif B (B) e Bc
(©) Shrinkage allowance © R@g_:[ B
(D) Distortion allowance (®) fewere Bc (frear B2)
78. For high speed Engines, the cam follower | 78. S=gaIfy H H, 39 R BldRR @1
should move with 9T BT &
(A) Cycloidal motion (A) Tgwig a9y
(B) Uniform acceleration and retardation B) I @RI d H<9 #
(©) Simple harmonic motion (€ ¥_eT 3ad g &
(D) Uniform velocity O Fq=F 97 A

|ﬂﬁﬂ|!!l|"|llw o 3



D _ e

e
70 The most probable velocity of the gas|7
molecule is given by

) ()

KT

m \

(D) S
m

« The standard no. of threads per inch for
various diameter is the
(A) Thread pitch (8) Series of thread

(D) Lead

S5KT

m

[ m
\

(©) Major diameter

st The centre of gravity of an isosceles triangle
with base ‘a’ and side ‘b’ from its base is

(A) 4a% —b? (8) a? + b?
6 4

© V4aZ- b2 (D) a2 — b2
6 4

. The distance a screw thread advances
axially in one turn is the
{(A) Turn (B) Crest

() Pitch (D) Lead

82. The fullers are used
(A) for finishing flat surfaces

(8) to finish the punched hole
(©) for punching a hole

(D) for Necking down a piece of work

80.

81.

82.

83.

*’m awfr e TRAfad 4w STa
B BT ANHIOT
(A) (8)
5KT
fm VF

© o
m _r—n”
LIS E a4 ufy § qf%u‘f @ e,
fafy=t 'amﬁ & ford g‘rcﬁ
(A gt fog
®) gRear o el
© IfRpaq @@ (0) offe

it wefgeg Bys, /e s o
T YT b B, B oA P 39D

MR A T W BT B
(A 42 — b2 (B a4+ b2
6 4
@  4a2-pz (D a®—b?
6 4
9 gl 1 U6 9% AN § 306 EN

a@uﬁﬁaﬁaﬁm‘:ﬂ%
() gTg (8) R
© fg (D) e

Bl ST JANT fhar S @
(A HdT Al B Ad A A

() g g4 BT o e & §
© B 91 & ford
D) FriEue F AfHT A A

8. Castiron is 8. HRCE JRRF Bl ®
(A) Ductile material (A) g1 ugref (8) Peew yeret
(8) Malleable material (© WR uare (0) HIR et
(©) Brittle material (D) Tough material
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8. Which of the following is the lightest and |85 fy=y & ¥ @F-3T U Ua Eedl Ud

most volatile liquid fuel ?
(A) Fuel Oil

(C) Petrol

(B) Kerosene
(D) Gasoline
86. The moment of inertia of a thin spherical

shell of mass‘m’ and radius ‘r', about its
diameter is -

(A) 3mr?/5

© 2mr?/3

) mr3/3
©) 2mr?/5

87. The resultant of two forces ‘P’ and ‘Q’ acting
atanangle ‘g'is expressed as

W /P2y Q2?- 2PQcos 6

® P2+ QZ-2PQsin 6

@ /P24 Q% + 2PQcos 0

© /P24+Q2 + 2PQsinG

88. The accuracy of micrometers, callipers, dial
indicators can be checked by
(A) Slip gauge (B) Plug gauge

(©) Ring gauge (D) Feeler gauge

8s. The heat transfer in refrigeration system
takes place according to
(A) Kirchhoff's Law

(B) Zeroth law of thermodynamics
(©) Second law of thermodynamics

(D) First law of thermodynamics

86.

87.

88.

89.

A AP STATMA TRl S8 © 2
(A) e AT (B) HIf

€ AgYat (D) ety

Uh gdal Mefl¥ @, R geaq me
@ B o € & e gl s
AT & R BaT B
(A)  3mr?/s5 (8)

©  2mr?/3 (D)

A qd PN Q ST R g

DU W B € TH URUTA @y
yefRfa &xar &

M) /P24 Q2- 2PQ cos O

mr3/3

2mr? /5

®) /P24 Q%- 2PQsin @

©  JP2+ Q2 + 2PQcos B

®  /P2+Q? + 2PQsin 0

AEHHICY, HATH T S gaoid @
gj@mfﬁmmﬁﬁm%mw
?

(A) Reg A1 (B) &[T W

© f&7 49 D) fFeR U9
fodl woiia Ao & SS ET=Re

foud IR Bar
() fErs o1 g

®) Iwrrfere & gad e
© SRt &1 g fraw
(0) ISFIfET 1 wuw

]
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91

Wwhich of the following gas is mostly used in
rown for street and domestic lighting and

heating ?

) producer as (B) Coke oven gas

() Mond Gas (D) Coal gas

Thread rolling is restricted to
(A) Ductile materials (B) Ferrous materials

() None of these (D) Hard materials

glanking and piercing operation can be
performed simultaneouslyin a
(A) Progressive die  (B) Simple die

(©) Combination die (D) Compound die

_ In a centrifugal casting method core is made

of

(A) Sand material (B) Ferrous material

(€©) Non-ferrous material

(D) No-core is used

A cycle consisting of one constant pressure,
one constant volume and two isentropic
processes is known as

(A) Carnot Cycle (8) Otto cycle

() Diesel cycle (D) Stirling cycle

The acceleration of a particle moving with
simple harmonic motion, at any instant is
given by

(A) o3y (8) w.y

(€) ®2 (D) (02 /V

N

80.

91.

92.

93.

95.

AR B ol v YH TG O
ﬂ?%ﬁ%mm;;q

W SieRR W 6 P e
€ Hie i D) FA Mg

IS AT B yeR At

(A) g ugref 8) g eref

O T A Bg & (D) HAR gyard

< AR AT e Wy fhafag
P AT AHA B
(A) gRIRTg S gRT

ATl Toars Ay ¥ =R feasdr et
S ® 2

(A) I gerd +t
(€ el a1g B
(0) HI$ PR Y &l Bl ©

TH g% O 9 99H <6, @ 9EH
IGT AT S 9EF Tl & UHH Bid
T Y BT G I Hed © ?

(A) HHEC TP (B) 3ifer TP

© I 9% (D) efef1 9%
W JEd T wRd gF fHA BT B
o, fedt M v (@) w®OfPw

IHHR0T N1 e Srar g 2
(A) 3.y (B) w.y

(D) (02/y

(B) dlg &g Bt

@ o2y
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9%. The amount of radiation mainly depends
upon the

(A) Nature of body  (8) Temp. of the body
(©) Type of surface of the body
(D) All of these

97. The minimum force required to slide a body
of weight W on a rough Horizontal plane is
(A) W cos 8 (8) Wtan®

(©) Wcote (D) Wsin6

8. The rate of change of momentum is directly
proportional to the impressed force, and
takes place in the same direction in which
the force acts. This statement is known as
(A) Newton’s third law of motion

(8) Newton’s first law of motion
{©) None of these

(D) Newton’s second law of motion

. Which of the following method can be used
for manufacturing 2 meter long seamless
metallic tubes ?

(A) Drawing
(O Rolling

(D) Extrusion and rolling

(B) Extrusion

100. Thermal conductivity of water with
rise in temperature.

(A) remains same (B) increases

(@ may increase or decrease depending

(© q%&] # T8 & GHR W
(©) 3 i

o7 Bl g M dd W, W AR #H

I« B WHM & ford amavad ~gAdw
dcT BT &

A W cos ¢
© W cot g

B) W tan ¢
®) W sin g

% AT IRIFT B &R T T dd B
AU Bl ® AR Swe e qa &
e & w9 8 € | I8 B PEamEr
P ,

W e &1 Tfa a1 T Fram
®) g1 31 T B g
© 3T 9 PIs T8

®) e &1 T F1 fFdi fgm

o i 3§ I o AN 2 der adt
Sie MBI g N T TR F R
TART B ST ® 2

A g faf
(©) Afeir fafy
(©) TrRIgeE 3R Ao ARy

TEE A fg TN W, e @ sy

GCIGETI B ® |
A) T &R R B) g

© qHE & TR qed W FW A

(B) TeaceH fafy

upon temp. 2l
(D) decreases O) HH B & |
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